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Exam Id
Name:
Exam Date: 10-Mar-2023
Module Name: TEACHERS
Duration 120
Batch: 09:00-11:00
1) General Studies
Question No. 1 1.00
Bookmark

Who among the following defeated the Marathas in the third battle of Panipat?
FIRgeR FIQ &9, AA0IFING G914 UIFUC JRER UL FRREM?
(A) O Nadir Shah
FIT Sl
(B) O Ahmad Shah Abdali (Correct Alternative)
21261Q Sl 2RI (Correct Alternative)
(C) © Mahmud of Ghazni
ARG Q AIgQ
(D) © Muhammad of Ghor
UIR B FIRAY

Question No. 2 1.00
Bookmark
Which Chola king acquired the title ‘Gangaikonda’ (conqueror of Ganga)?
60 6517 QIR ‘CIEPIRERIE (Gangaikonda)' (SIEFl S60G1) QAR ARG FR2J6M?
(A) O Rajendra |l (Correct Alternative)
6wy | (Correct Alternative)
(B) O Narasimhavarman Il
QRGeeRdR Il
(C) O Mahipala
agaim
(D) O Bindusara
qga

Question No. 3 1.00
Bookmark
The Convention on Migratory Species, is also known as:

QEERAQ 2] FAIRETESIR 6954 (Convention on Migratory Species) Qlee F14 wellgéll 265" |
(A) O Stockholm Convention

FFELIC FFEQTLR (Stockholm Convention)
(B) O Basel Convention

Qedm freads (Basel Convention)
(C) O Bonn Convention (Correct Alternative)

9 996WedS (Bonn Convention) (Correct Alternative)
(D) © Ramsar Convention

QUL FE6WRde (Ramsar Convention)

Question No. 4 1.00
Bookmark
The Sardar Sarovar Dam is constructed across which Indian river?
ANASD 699 FG1 RUEA ATIQ LEALN RFISSY (Sardar Sarovar Dam) G616l SAUARR?
(A) O Koyna
6@
(B) O Ganga
Q%P
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(C) © Narmada (Correct Alternative)
@€1G1 (Correct Alternative)
(D) O Tapi
Sl

Question No. 5 1.00
Bookmark
In which year, did the Chauri Chaura incident take place during British rule?
R°6AR S AFN6R 689 9F, 65191 651U (Chauri Chaura) 996l F2I@I?
(A) O 1921
1921
(B) O 1922 (Correct Alternative)
1922 (Correct Alternative)
(CyQ 1918
1918

(D) O 1920
1920

Question No. 6 1.00

Bookmark
The trees such as Ebony, Rosewood, Aini and Mahogany are commonly found in which of the following
forest types in India?

QUALER FYMGG 650 GEFPREA RIS Q6€ 96QIR1 (Ebony), 651GQQ (Rosewood), IQ& (Aini) 6 66126IT
(Mahogany) @f 918 696RIg fReld?
(A) O Tropical Thorn and Scrubs
FIR10 FEIR2N 3 9% @@ (Tropical Thorn and Scrubs)
(B) O Tropical Deciduous Forests
1812 96T 296 (Tropical Deciduous Forests)
(C) © Tropical Evergreen Forests (Correct Alternative)
F181% CALRAEG 26 (Tropical Evergreen Forests) (Correct Alternative)
(D) O Tropical Mangrove Forests
TSI 6LIRE (Tropical Mangrove Forests)

Question No. 7 1.00

Bookmark
Who among the following wrote the famous book "Economic History of India"?

faRgem FIQ g9 96 "aeRleRIae @8 2P @82l (Economic History of India)" @ 6Relq @97
(A) © Baden Powell
QIEEe dicdm (Baden Powell)
(B) © Radha Krishna
QI % (Radha Krishna)
(C) © Madhan Lal
Qe mim (Madhan Lal)
(D) O R.C. Dutt (Correct Alternative)
2. 8. 9@ (R.C. Dutt) (Correct Alternative)

Question No. 8 1.00

Bookmark
In India, the Operation Flood is associated with which of the following?

RUAGER TINEC FRIQ FIL| ARG AACALR FQ (Operation Flood), 89S 268G ?
(A) O River embankment
2169 IF SIS (River embankment)
(B) © Milk Production (Correct Alternative)
99 «dlew (Correct Alternative)
(C) © Poultry Production
999 Qdlew

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(D) O Beverages Production
dix1e dlee

Question No. 9 1.00

Bookmark
Which Constitutional Amendment Act added 'the right to form cooperative societies' to 'Part Il of the
Indian Constitution?

6% ATRIE LCARIS ARUFACER 'AATIA AFE G108 S| RIS (the right to form cooperative societies')
q QIAGIA ARISX QUG [I' 69 6L IANRR?
(A) O 100th Constitutional Amendment
1009¢1 AT °6SIRIF
(B) O 76th Constitutional Amendment
7607 AR Fe6alRIS
(C) O 97th Constitutional Amendment (Correct Alternative)
97G €1 AFRIIQ D°651IG (Correct Alternative)
(D) O 32nd Constitutional Amendment
3207 IR deedRIR

Question No. 10 1.00

Bookmark
Which of the following countries has the longest coastline in the world?

FANGC 699 6QE6R TR Qe Aq9 QUGR 696l (coastline) 2&?
(A) O Canada (Correct Alternative)
@11l (Correct Alternative)
(B) O Indonesia
R68leagz2ll
(C) O United States of America
2 AUY 26T
(D) O Russia
el

Question No. 11 1.00
Bookmark
During early 19th century, Khasi revolt in Meghalaya was led by:
19971 §GIR1R AIRAER A9 6l T6QIL (Khasi revolt) Q 629% 69@2l6m?
(A) O Chakra Bisoi
2@l S68IR (Chakra Bisoi)
(B) O Paona Brajabasi
dIBR 9@@LIL1 (Paona Brajabasi)
(C) O Kanhu Murmu

@1 99 (Kanhu Murmu)

(D) O Tirot Sing (Correct Alternative)
goe a° (Tirot Sing) (Correct Alternative)

Question No. 12 1.00

Bookmark
The concept of 'Fundamental Duties' in the Indian Constitution was taken from:

QUG AFRIGER 2RI '6TRG FERY (Fundamental Duties)' @ 2l Q{2 |
(A) O British Constitution
§3¢ auIR
(B) O Irish Constitution
2IQE eI
(C) © USSR Constitution (Correct Alternative)
USSR 9f2IIe (Correct Alternative)
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(D) O USA Constitution
USA aaIg

Question No. 13 1.00
Bookmark
Who among the following was the founder of the Suryavamsi Gajapati Empire?
FORgem Q&9 9dYeedn Jeas AIFIRY (Suryavamsi Gajapati Empire)al 8|S 2J6m?
(A) O Bhanudeva IV
QIgees IV
(B) O Kapilendradeva (Correct Alternative)
QA6RE69S (Correct Alternative)
(C) O Pratarudradeva
deIdgees
(D) O Purusottamadeva
goediacreee

Question No. 14 1.00

Bookmark
Which of the following Articles of the Indian Constitution empowers the President to impose the
President's rule in the States?

QAU LG 686 A, AUYLIET AURYER ARG €19 QIR FFQ QIR AEIGI YRIF SRRIN?
(A) O Article 324
Gl 324
(B) O Article 380
digl 380
(C) O Article 356 (Correct Alternative)
MG 356 (Correct Alternative)
(D) O Article 280
&gl 280

Question No. 15 1.00
Bookmark
When was the Second Five Year Plan started in India?
QUABER 6RES §G1L ag9186 6QIRRI AR U@ ?
(A) O 1961
1961
(B)y © 1951
1951
(C) O 1966
1966
(D) O 1956 (Correct Alternative)
1956 (Correct Alternative)

Question No. 16 1.00

Bookmark
The Subject "Citizenship" is mentioned in which of the following lists of the Seventh Schedule of the
Indian Constitution? _
QAL IRIRER Q1 AT A9YS (Schedule) R FImGS 66Q SINFIER "FIFARR” (Citizenship) Q821G
LQERS FAUAIRE?
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(A) O Residuary List
2939 SRS (Residuary List)
(B) O State List
AGY GIRR (State List)
(C) O Union List (Correct Alternative)
659 SIMKI (Union List) (Correct Alternative)
(D) O Concurrent List
g9 &1 RS SRS (Concurrent List)

Question No. 17 1.00

Bookmark
The thickness of the ozone layer is measured in terms of which of the following units?

Q‘ﬂ@%l@ 650 9GS SIINYES B6RIS R 6L16ER (thickness of the ozone layer ) ¢lId @QUAIN?
(A) O Dobson (Correct Alternative)
@94ds (Dobson) (Correct Alternative)
(B) O Hertz
24 (Hertz)
(C) © Candela
@leéml (Candela)
(D) © Decibel
62962 (Decibel)

Question No. 18 1.00
Bookmark
The Prajamandal in Nayagarh was constituted on 6th June 1938 under the presidentship of:
6 @& 1938 69 & AYFGIED LI0LER dLIFldm (Prajamandal) 6108 @udimml |

(A) O Sarat Chandra Das
SI9E % Q14 (Sarat Chandra Das)
(B) O Bhimsen Bhoi
QKL 66 (Bhimsen Bhoi)
(C) © Narayan Nanda (Correct Alternative)
LIS @& (Narayan Nanda) (Correct Alternative)
(D) © Harekrushna Mahatab
weqY (19319 (Harekrushna Mahatab)

Question No. 19 1.00

Bookmark

Which of the following Lakes in India is formed due to tectonic activity?
QERE T (tectonic activity) FINEQ NAGER FIMES F1UQ 609 €9 g8 62IR&7?
(A) O Dal Lake

@l €< (Dal Lake)
(B) © Wular Lake (Correct Alternative)

«miol €9 (Wular Lake) (Correct Alternative)
(C) © Tso Moriri Lake

6<ll 651191 €S (Tso Moriri Lake)
(D) O Pangong Tso Lake

6dliewPlaP 64l €@ (Pangong Tso Lake)

Question No. 20 1.00

Bookmark
River Penganga is the tributary of which of the following rivers?
69996l ¥G1 (River Pengang), S9RES c1:IQ 699 1R QUG 26E?
(A) O Mahanadi
19191
(B) © Krishna

o
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(C) O Kaveri
@leaan

(D) O Godavari (Correct Alternative)
65l<ISR (Correct Alternative)

Question No. 21 1.00
Bookmark
Which Article of the Indian Constitution prohibits 'Begar’ (forced labour)?
QAUASID ARG 68Q IR, QRN (6961IRY) 1 Begar' (forced labour) § 9G6QU K6Q7?
(A) O Article 26
&gl 26
(B) O Article 23 (Correct Alternative)
A9 23 (Correct Alternative)
(C) O Article 18
Aol 18
(D) O Article 20
gl 20

Question No. 22 1.00
Bookmark
When was the "Goods and Service Tax" implemented in India?
LIQEER 669 "dIFIg @ 6491 @A (Goods and Service Tax)" Mg FQUGIRI?
(A) O 2012
2012
(B) O 2016
2016
(C)O 2015
2015
(D) O 2017 (Correct Alternative)
2017 (Correct Alternative)

Question No. 23 1.00
Bookmark
Who among the following freedom fighters was regarded as the ‘Deshbandhu'?
aamse 60@ RNSS! goglien '6Q619Q (Deshbandhu)' QI6E UGGE 2SE?
(A) O Chittaranjan Das (Correct Alternative)
SEABE Q19 (Correct Alternative)
(B) O Matilal Nehru
6AIGRIM 636TQ
(C) © Madan Mohan Malaviya
90 64119 LMY
(D) O Lala Lajpat Rai
Ml MG QUL

Question No. 24 1.00
Bookmark
‘Asian Elephant' is placed under which category of the IUCN's Red List of Threatened Species?
A@SI99 QIS (Threatened Species) Ui IUCNS 6% M& (IUCN's Red List)Q 65%. 65616 "Ik Q101
(Asian Elephant)'q Q@lldIa&?
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(A) O Critically Endangered
G 9SG (Critically Endangered)
(B) O Vulnerable
FAQIAG (Vulnerable)
(C) © Endangered (Correct Alternative)
mddid (Endangered) (Correct Alternative)
(D) O Extinct in the Wild
Smg 994 @19 (Extinct in the Wild)

Question No. 25 1.00

Bookmark
Where is the headquarters of the State Bank of India located?

WIAGT 6/T Ul (State Bank of India) @ g]el4Ime 696 0168 29967
(A) O New Delhi
e Sq1
(B) © Chennai
653N
(C) O Lucknow
mesl
(D) ©O Mumbai (Correct Alternative)
£l (Correct Alternative)

Question No. 26 1.00

Bookmark
When was the first Anglo-Sikh war fought?

6969 QAIC 26er-8% (Anglo-Sikh) JF 6Q1RSRI?

(A) O 1848-1849
1848-1849

(B) O 1845-1846 (Correct Alternative)
1845-1846 (Correct Alternative)

(C) O 1842-1843

1842-1843
(D) O 1838-1839
1838-1839
Question No. 27 1.00
Bookmark
Which of the following soils looks Yellow when it occurs in hydrated form?
aemgle 699 et 2Ig 22€) (hydrated form) 66! @RG2 6QHIA?
(A) O Red Soil (Correct Alternative)
6MES F18K1 (Red Soil) (Correct Alternative)
(B) O Laterite soil
@@l €IS (Laterite soil)
(C) O Regur Sail
AR (@RI (Regur Soil)
(D) O Arid Soil
§9 F]@<! (Arid Soil)
Question No. 28 1.00
Bookmark

Which among the following countries does not share its border with Red Sea?
FIRge 696 6941Q 16N, 6AIEE QIR (Red Sea) § RIS FIE?
(A) O Eritrea

99@2l (Eritrea)
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(B) © Sudan
€9Ie (Sudan)
(C) O Dijibouti
@641% (Djibouti)
(D) O Ethiopia (Correct Alternative)
6}23(3?]2" (Ethiopia) (Correct Alternative)

Question No. 29 1.00

Bookmark
Which among the following Institutions releases the All-India Consumer Price Index Numbers for
Industrial Workers?

QAHFER QI ARRIS| IR aig aamse 699 2°9l 919! 2AR-2dal QEUOR dINE Resy @l (All-
India Consumer Price Index Numbers) gRIgie aqudimelg?
(A) O Department of Economic Affairs
200918 QUITIQ @RS (Department of Economic Affairs)
(B) O Reserve Bank of India
QNG ARG QUIF (Reserve Bank of India)
(C) O National Statistics Office
QU1 DRLENIQ QIHUIRE, (National Statistics Office)
(D) O Labour Bureau (Correct Alternative)
6mMa o QU6 (Labour Bureau) (Correct Alternative)

Question No. 30 1.00

Bookmark
Which of the following parts of the Indian Constitution was described as the "novel features” of the Indian
Constitution by Dr. B. R. Ambedkar?

RUAGIA AFRGA FEIRYES 69Q UG . §. 2. 2CALRAT FIRU "GEF 6T5]Y (novel features)" QIS
2del fRQIRARI?
(A) O Partlll
wUsl 1l
(B) O Part VI
@lol VI
(C)O PartIX
@Il IX
(D) O Part IV (Correct Alternative)
@Gl IV (Correct Alternative)

2) Arithmetic

Question No. 1 1.00

Bookmark
A number when divided by 48, 72 and 96, leaves the remainder 21 in each case. Find the smallest
possible number.

65l °814Ig 48, 72 (6 96 IR QG F6M Y6LUR 2R RITIEHN 21 AER | FLOF AQURY A°HNIT G4l a9 |
(A) O 329
329
(B) O 319
319
(C) O 309 (Correct Alternative)
309 (Correct Alternative)
(D)O 339
339

Question No. 2 1.00
Bookmark
Find the value of x. (Upto 1 decimal)
15.5%15.5+2.5+x+83.81x1.1 = 521
X 8 RY 7R /9 | (979 66189 gie adyg)
15.5%15.5+2.5+x+83.81x1.1 = 521
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(A) O 352.7
352.7
(B) O 332.7 (Correct Alternative)
332.7 (Correct Alternative)
(C)O 362.7
362.7
(D) O 3427
3427

Question No. 3 1.00

Bookmark

A man travels at a speed of 121 kmph and covers a certain distance in 7.26 minutes. Find the distance
covered in metres.
@661 Q4B 121 kmph 699169 AIGI 95 97 FEQ $AGIq 7.26 FIRF6S A5 K69 | ASRER AEHA KRS
QoG Fela a9 |
(A) O 14841

14841
(B) O 14941

14941
(C) O 14741

14741
(D) O 14641 (Correct Alternative)

14641 (Correct Alternative)

Question No. 4 1.00
Bookmark
If the ratio between two numbers is 31:32 and their sum is 2835, then find the smaller number.
S 9@RG Q°6lYl F1IEQ AU 31:32 IQ° 6LFIRTR CLAFPR 2835 €I 6669, FG A°GIYIT dda eq |
(A) O 1495
1495
(B) O 1595
1595
(C) O 1295
1295

(D) O 1395 (Correct Alternative)
1395 (Correct Alternative)

Question No. 5 1.00
Bookmark
Find the average of first five multiples of 13.
13 Q galfl 68T gEca TIULIR Gelo a9 |

(A O #M
41

(B) O 45
45

(C) O 39 (Correct Alternative)
39 (Correct Alternative)

DO 43
43

Question No. 6 1.00
Bookmark
Solve:
554.25 + 226.35-442.65="7
ARG a:
554.25 + 226.35-44265="7
(A) O 347.95
347.95
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(B) O 327.95
327.95
(C) O 337.95 (Correct Alternative)
337.95 (Correct Alternative)
(D) 317.95
317.95

Question No. 7 1.00

Bookmark

Find the HCF of 205, 410, 615 and 820.
205, 410, 615 3 820 Q 9.91.9). F¢ic\ 8 |
(A) O 205 (Correct Alternative) (Choosen Option)

205 (Correct Alternative) (Choosen Option)
(B) O 225

225
(C)O 215

215
(D)O 235

235

Question No. 1.00
Bookmark
If Muhammad distributed 2583 chocolates from a box of 6150 chocolates, what percentage of the
chocolates will be left in the box?
4@ A196Q 61505 96QI6MS' 29 QIFR 2583F S6RIEMS Q1€ 6Q6M, 6068 QIFER 6R6E F0RT| F6RIEMT
SRAEe?
(A) O 56
56
(B) O 58 (Correct Alternative)
58 (Correct Alternative)
(C)O 54
54

(D) O 52
52

Question No. 9 1.00

Bookmark

Jegan obtained 75, 66, 80, 69 and 84 marks (out of 100) in English, Mathematics, Physics, Chemistry
and Biology. What is his average mark?
6R9Ie R°AUR, GI8IS, TPRg, 6a6F1R1 B QARG (100 Q) 75, 66, 80, 69 G 84 A6 AR | GI'
2ILIB FIIS 69667
(A) O 73.8

73.8
(B) O 74.8 (Correct Alternative)

74.8 (Correct Alternative)
(C)Ypo 728

72.8

(D) 75.8
75.8

Question No. 10 1.00
Bookmark
Find the total surface area of the cube, whose side is 45cm. (In cmz)
45cm QIg SEI% 6915 AAUAR AF1G JYCRDN 6AGCPR fda aa | (cm? 62)
(A) O 12150 (Correct Alternative)
12150 (Correct Alternative)
(B) O 14150
14150
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(C)O 13150
13150
(D) O 11150
11150

Question No. 11 1.00

Bookmark
On dividing a number by 74, we get 275 as quotient and 0 as remainder. On dividing the same number by
73, what will be the remainder?
69159 oI 74 FIRU QUG KRS FIGU 2lI6F QUGICPR 275 I8° QUGIEES 0 RS | IAIS 9°8UIg 73 IR QUG
@EMm UlEEIY 666 6297

(A) O 52
52

(B) O 54
54

(C) O 56 (Correct Alternative)
56 (Correct Alternative)

(D)O 58
58

Question No. 12 1.00

Bookmark

A 1264 litre of mixture contains milk and water in the ratio 39:40. How much milk must be added to the
mixture so that it contains milk and water in the proportion of 3:2? (In litres) ]
1264 QAR Q@ J4669 MR 6 R 2QAS 39:40 26T | AFL6R 29 IR B ARR AGAST 3:2 [AAR| e
Y2J6R 6Q6S ARNEIA AR FIRR| AISEUR? (RERER)
(A) O 316

316
(B) O 336 (Correct Alternative)

336 (Correct Alternative)
(C)O 346

346
(D) 326

326

Question No. 13 1.00

Bookmark

Akil rows 43.5 kmph in still water. If the river is running at a speed of 14.5 kmph, it takes him 90 minutes
to row to a place and back. How far is the place? (In km)
AFM 95 GRED 43.5 kmph 6Q'0I69 WPl O | 99 @91 14.5 kmph 696169 RIEE 62Q2UN 6967, 65115
dIeg SoPI6R QIR 6P 2T iR ¢lg 90 89 971 MET | LIFA YRG! 68687 (kmER)
(A) O 29 (Correct Alternative)

29 (Correct Alternative)
(B)O 32

32
(C)O 30

30

D)o 31
&

Question No. 14 1.00

Bookmark

Lavanya made a profit of 25% when selling an ornament at ¥ 6530. Find the cost price of the ornament.
(In%)
MILGY 6615 SE8Ig T 6530 60 5L @ 25% AR AT | FIFEITR G MY fdo e | R 69)
(A) O 5226

5226
(B) O 5228

5228
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(C) O 5224 (Correct Alternative)
5224 (Correct Alternative)
(D) O 5230
5230

Question No. 15 1.00
Bookmark
By selling a table for ¥ 1190, a man loses 15%. At what price should he sell it to gain 15%? (In X.)
@668 QYR 69T 659G T 1190 69 IGA 8% 15% JG LT | 15% AR ARG IR 691 Y[ 6966 FJMYER
T2 29QI 2SR (2 69)
(A) O 1620
1620
(B) © 1610 (Correct Alternative)
1610 (Correct Alternative)
(C) O 1630
1630

(D) O 1600
1600

Question No. 16 1.00
Bookmark
Find the Total Surface Area of Cylinder, given that radius is 14 cm and its height is 5 cm. (In cm2)
QUIGI 14 cm 99° QBEI 5 cm 2RI 66159 TRYAR AClg YRISHA 6L R Fda AR | (cm? 6Q)

(A) O 1672 (Correct Alternative)
1672 (Correct Alternative)

(B) O 1692
1692
(C) O 1702
1702
(D) O 1682
1682

Question No. 17 1.00
Bookmark
What percent of 1684 is 4217
1684 Q1 696G @l 421 2l6G'7?

(A) O 30
30
(B) O 20
20

(C) 935
35

(D) O 25 (Correct Alternative)
25 (Correct Alternative)

Question No. 18 1.00

Bookmark
A, B and C can complete a piece of work in 381, 254 and 762 days respectively. Working together, they
will complete the same work in how many days?
A, B B C 661159 QIF1g Q29661 381, 254 (3 762 Q26 ‘2]°€j§i QQING | YRI0 [IF FEM AR [ 66

6966 aa6n 2°94 aR6e?
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(A) O 127 (Correct Alternative)
127 (Correct Alternative)
(B) O 125
125
(C)O 123
123
D) 129
129

Question No. 19 1.00
Bookmark
Which one of the following numbers is exactly divisible by 117
QYRGS A°GUIGgER FRIQ 66Q% 11 glal El°qsi FRIRY 699?
(A) O 26977
26977
(B) O 26985
26985
(C) O 26961 (Correct Alternative)
26961 (Correct Alternative)

(D) O 26969
26969

Question No. 20 1.00
Bookmark
A can finish a work in 378 days and B can do the same work in 756 days. Working together, they will
complete the same work in how many days?
A 69154 QIFIg 378 GF6Q I9° B 69% QIF1q 756 Q6 @QAIER | IRI0 K1 96 AAIR R1AG 699168 6866
ae6q 2094 aQ6e?
(A) O 252 (Correct Alternative)
252 (Correct Alternative)
(B) O 250
250
(C)O 254
254
(D) O 256
256

3) Analytical Reasoning and Mental Ability

Question No. 1 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? .
(1), (2); (3), (4)WF6R P¢l 6LIWS 6QQ 83, g9a 5eq 9dd 95599 feeed aAgod 6997
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€) O

C
@)
— s ww A

(D) O 2 (Correct Alternative)
2 (Correct Alternative)

Question No. 2 1.00

Bookmark
Z sits to the South of Y and West of W. X sits to the North of W and East of Y. If everyone is facing North,
which direction of Z, is X?

Z, Y Q QR4 Go6Q 99° W o dfiel Y96 @Q8 | X, W 9 Q89 QF6Q ¥49° Y @ ge Q96 988 | 98 Q168
Qe9 Q9g FF a92IE, 6568 Z T 699 QFI6R X 94& ?
(A) O South-West
QR¢-a8a
(B) © North-West
LQER-ATE
(C) © North-East (Correct Alternative)
GG&Q-Q‘B‘( (Correct Alternative)
(D) © South-East
QRe-g¢
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Bookmark
If all the vowels are replaced by the immediate next consonant from the English alphabet series in the
word REPOSSESSION, then the letters of the word are arranged alphabetically, which letter will be
second to the left of the sixth letter from the right?

619 REPOSSESSION 69 291 9618 9994 0@ aral@ @4elin 299I6q 9219 O 9996 QUge 94 il
982108 SN 99° 99 9919 AVAGeq F4AIR G ARIR QHIAIY, 6568 FITIEQ I AVAR I
RP69 291 F619. AYA F'6l 6297
(A) O P (Correct Alternative)

P (Correct Alternative)

(B) O
(©)e)
(O)O

ZZ2 00 MM

Question No. 4 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘A > E’ definitely true?

O<R<A=N?GzE _ ‘
A2gRls ‘A> E' g F9¢ Q69 94 K091 dIn g9ef dagRIsea 2l g¢ 58 (?) 2969 fgnee 68a Je1a
QLRI 2IQGR?

O<R=A=N?GzE

(A) O > (Correct Alternative)
> (Correct Alternative)

(B O
€O

D) O

AN VIV

Question No. 5 1.00

Bookmark
If, in the number sequence 12456667 134 2, all the odd numbers are increased by one and all the
even numbers are increased by two, then the new number sequence is arranged in ascending order,
which will be the seventh digit from the right?

AR 9T °ENIGF 12456667 134260 261 A AYF L°FUIER 98 9F SRUAIT 99° AAY Y§I I°EIER
IR 98 SN 686S POF AT AR IF FFI6R AXNEMA 6997 GII6 SR YS! AR 6897
(A) O :

(B) O 6 (Correct Alternative)
6 (Correct Alternative)

€O 2
2
Do 8
8

Question No. 6 (Case Study From Q.No 7 To 11) 5.00

Bookmark
Directions: Read the given information carefully and answer the questions that follow.
Seven friends M, N, O, P, Q, R and S sit in a straight row. Out of seven, some face north and some face
south, not necessarily in the same order.
a) Neither Q nor P is the neighbor of M.
b) S sits to the immediate right of O.
c) R and M faces the direction opposite to that of S and P.
d) M sits at the one end of the row.
e) R sits fourth to the left of P.
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f) O sits third to the right of Q, who sits fourth to the left of N. N doesn't face South direction.

FELISR: FAYIN2YSI ORI FIF6LR ULg 99° 9YYEaa 2aR §2g | _
Q16 @81 €igf M, N, O, P, Q, R 8 S 66lI5 QI 2IS6R 988E | €I6 K@ FRIQ &8 0eag 9e° a8 efdg e
% Q983 | 9E 971 98] KR Q6L |

a) Q @¢) P, M Q 6Q1N 928 |

b) O R 0% BI2I8 ¥e6A S IR | _

c) S B P 69Q Q99 FL 9088 SI'a TING G0 R B M gL @9RS |

d) M AIZQ 9@ QIS6R 948 |

e) P Q QIfl @8 6982 YI96A R 94K |

f) N 9 9Ifl @2 9582 gIF6x 99291 Q @ LILIE 9¢ §o19 LIF6R 0 @8R | N 086 Gog (¢ 97 FI2IF |

Bookmark
Who sits at the fifth position from the left end of the row?

AIBQ |IE YISQ 9HF1 LIRS &9 eQR?

(A) O N (Correct Alternative)
N (Correct Alternative)

e
@
TOT LY OO

Bookmark
Who sits second to the left of the one who is fourth to the left of P?

P & QIfl ¢ 6582 2If6R 98Il AIRFR FIFl 8% GO0 JINER &9 98&?

(A) O

C
O
nmw oD =E=Z

(D) O O (Correct Alternative)
O (Correct Alternative)

Bookmark
Who sits third to the left of S?

S A QUL AL GL1EL LIFER T QGR?

(A)OM
M

B O Q
Q

(C) O R (Correct Alternative)
R (Correct Alternative)

)OO N
N

Bookmark
Who sits exactly between O and R?

0 B R 9 0 71869 @9 4&?

(A) O N (Correct Alternative)
N (Correct Alternative)

(B)O Q
Q
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©o s
S
Db)o P
P

Bookmark
Which of the following is the odd man out, with respect to the arrangement?

QUeg 26D FIRYS FIQ 6966 2SS (odd man out) 2662

(A)O O
]

(B) O N (Correct Alternative)
N (Correct Alternative)

(€O s
S

DO P
P

Question No. 12 1.00
Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
Accomplish, Achieve, Fulfil, Attain, Collapse ]
FIMge Q6T FRIQ @‘16‘61@ 4% FEY QUINER YRR 26T 99° 6515 7L G100 99F | 6990 6413
AFE69 AIfim 699 Q1e?
Accomplish, Achieve, Fulfil, Attain, Collapse
(A) O Fulfil
Fulfil
(B) O Collapse (Correct Alternative)
Collapse (Correct Alternative)
(C) © Accomplish
Accomplish
(D) O Attain
Attain

Question No. 13 1.00
Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: RzK; EzL;A=P, K<L, R<A
Conclusion:
i)K=E
iiyA>K

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

9T 9469 T0g QAIQIR FRIEA 2T A°UGG TRYER YLFe QAUAINE | 9T 9B U469 90T Fad
FAUAAING:

@eY:RzK;EzL;A=P;K<L,R<A

Fad:

)K<E

iNA>K

FINGC FRFYLR RIQ QUAYS T°F FOF 998
(A) 6967 oad | 298 F6R
(B) 69en fad i AGARE F6Q
(C) A9d | A9 ii AGANE FEQ
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(D) 3ad i G9) i AGANE F6R QUL
(E) 20 Gad i 8 ii AQIE K6 |
(A) O 8

(B) O B (Correct Alternative)
B (Correct Alternative)

OO

oo >»>

Question No. 14 (Case Study From Q.No 15 To 17) 3.00
Bookmark
Directions:
In a certain code language:
'sweet and melodious song' is written as '$7 @5 *8 &3',
‘fast and peppy song' is written as '@5 /2 19 &3/,
'pleasant and sweet tune' is written as '&3 *8 %4 #1'
feaaIeR:
4@ GEY 6715 QUTERR ;
'sweet and melodious song' § '$7 @5 *8 &3' WIES 6MSIIDS,
‘fast and peppy song' § '@5 /2 19 &3' WI6S MRS,
'pleasant and sweet tune' § '&3 *8 %4 #1' QI6Q 6RSILINS |

Bookmark
What is the code for 'song' in the given code language?

d9a 6419 QIFIER 'song’ A 6416 "¢l 6LR?

(A) O &3
&3
(B) O @5 (Correct Alternative)
@5 (Correct Alternative)
(C)O 12
12
(D)O '8
*8

Bookmark
What does the code '$7 *8' stand for?

6Q18 '$7 *8' RIT| UIR AEY?

(A) O song sweet
song sweet
(B) O and melodious
and melodious
(C) O sweet peppy
sweet peppy
(D) O melodious sweet (Correct Alternative)
melodious sweet (Correct Alternative)

Bookmark
What is the code for 'tune' in the given code language?

dua 6@l QIYIER 'tune’ Q 6R1% @'l 64Y?

(A) O %4 or #1 (Correct Alternative)
%4 @€l #1 (Correct Alternative)

(B) O #1
#1
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C)O %4
%4
(D)O &3
&3

Question No. 18 1.00
Bookmark
Find the next number in the series.
3,7,22,45, 116, ?
o8 £9166 998 el 2°8UIS T4l /9l |
3,7,22,45, 116, ?
(A) O 158
158
(B) O 152
152
(C) O 163 (Correct Alternative)
163 (Correct Alternative)
(D)O 147
147

Question No. 19 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4)RISER FEQ 621R2S| 609 KF, TR IR NG 8F 6897
(A) O
(B) O

4

(C) O 3 (Correct Alternative)
3 (Correct Alternative)

DO 2
2

1
1
4

Question No. 20 1.00

Bookmark

Four of the following five are alike in a certain way and so form a group. Which is the one that does not

belong to that group?

4B, E, FX ]

FIRMGIS 6T I glea@ 4F GAY QUINER IRINR AT I9° 651159 7L 609 Q98 | 6a90 698

A7L6R AR 689 FIE?

Z B, EFX

(A) O
(B) O
© 0O

XX M NN

(D) O E (Correct Alternative)
E (Correct Alternative)

Question No. 21 1.00
Bookmark
A man walks 5km towards West; takes a right turn and walks 12km. He then walks 4km towards the
starting point and reached the destination. How far is he from the starting position?

@68 QU@ AL G660 5km SIRE; GI'UER 99 QILIE 66118 69% 12km SIRE | & 69 2194 §g 219G 4km
SIR AAY IRER ILHT | 20 TLQ 64 6960 YOCIER AKT?

(A) O 11km
11km
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(B) © 9km (Correct Alternative)
9km (Correct Alternative)
(C)O 13km
13km
(D) O 8km
8km

Question No. 22 1.00
Bookmark
Find the missing term in the series.
600, ?, 300, 100, 25, 5
Joa 9769 2RARNAS| A°HUITG Fea /R |
600, ?, 300, 100, 25, 5
(A) O 200
200
(B) O 600 (Correct Alternative)
600 (Correct Alternative)
(C) O 400
400
(D) O 500
500

4) Computer and Internet Awareness

Question No. 1 1.00

Bookmark
feature in Word allows you to create a variety of documents that can be personalized for each
person receiving it.

gl (Word )6 2l 63694 G6Q RN 9g6FIE T2IR fRLI6R AITITY aQRN, Gﬂﬁﬂﬁ‘ﬁ dInQ
IR QEY Y60YR S4B IR TedIRIRNAG (personalized) RQAUYIRAIGS |
(A) O Sync mail
@ 6¢1m (Sync mail)
(B) O File - > Share with people
oM -> 69e & IgM (File->Share with people)
(C) © Send as Email option
644 2l merIm aYge (Send as Email option)
(D) © Mail merge (Correct Alternative)
6eIm A16 (Mail merge) (Correct Alternative)

Question No. 2 1.00
Bookmark
In Excel, combining two or more cells into one cell is called
J6gm (Excel) 69 9@ Q1 GEBIRIA 69MYLY 998 AR 66115 69 @R (comblnlng two or more cells into
one cell) cmziqa QeIAN |
(A) O Justify
QTP (Justify)
(B) O Merge (Correct Alternative)
a6 (Merge) (Correct Alternative)
(C) O Wrap Text
QUL 69'q% (Wrap Text )
(D) © Concatenate
aaRITeas (Concatenate)

Question No. 3 1.00
Bookmark
The printers that create images by spraying ink though tiny nozzles is:
6819 6Q18R (nozzles) FIRIFIER AT 69 97 &F 98 a9l Jaag Qelang |
(A) O Inkjet Printers (Correct Alternative)
NAFERT T&R (Inkjet Printers) (Correct Alternative)
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(B) © Band Printers

QYi¢ 949 (Band Printers)
(C) O Laser Printers

6RA% 849 (Laser Printers)
(D) O Impact Printers

Q¢ D& (Impact Printers)

Question No. 4 1.00
Bookmark
What is the shortcut key to close a PowerPoint?
dIgIR 9 (PowerPoint) § @& 99<! o[l Q@QQ @1 @'é?
(A) O Shift+Q
Shift + Q
(B) © Shift+D
Shift + D
(C) O Ctrl + Q (Correct Alternative)
Ctrl + Q (Correct Alternative)
(D) O Ctrl+D
Ctrl+D

Question No. 5 1.00
Bookmark
is a proprietary journaling file system developed by Microsoft.
AIRERILIY (Microsoft) IR GRS 661G\ 6gIPINGIR GG MG CPIam Qe (proprietary
journaling file system) 2I6G' |
(A) O ACLS
ACLS
(B) © NTFS (Correct Alternative)
NTFS (Correct Alternative)
(C)O UTF
UTF
(D) O HFS
HFS

Question No. 6 1.00

Bookmark
Each hexadecimal symbol is an encoding for how many digit binary number?

g69Ye 695I699aIN 9919 (Each hexadecimal symbol) 686% & (digit) S8% SIQRIQ Q°6tI (binary
number) IR NG IQERIG° 21667
(A) © 16-digit binary number
16-2@ S8Y QRN D°61Yl (16-digit binary number)
(B) O 8-digit binary number
8-2& QI QRN L°S4I (8-digit binary number)
(C) O 2-digit binary number
2-2e QA QIQQI 9°$4I (2-digit binary number)
(D) O 4-digit binary number (Correct Alternative)
4-2w §61g, QIRLFIN 9°614I (4-digit binary number) (Correct Alternative)

Question No. 7 1.00
Bookmark
In Windows 10 Operating system, key combination opens the start buttons context menu.
G6dll 10 265 A} (Windows 10 Operating system) 620 @1 af609% Q9 YId 95F

@647 6¢17 (start buttons context menu) 66lIm2IN |
(A) © Windows + O

Windows + O
(B) O Windows + M

Windows + M
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(C) O Windows + X (Correct Alternative)
Windows + X (Correct Alternative)
(D) O Windows + C
Windows + C

Question No. 8 1.00

Bookmark
A collection of related web pages is known as .

aae 64Q 699969 (web pages)a 2°9Eq QeI |
(A) O webinar
648R19 (webinar)
(B) © web browser
649 QW% (web browser)
(C) © website (Correct Alternative)
68edInG (website) (Correct Alternative)

(D) O html
html

Question No. 9 1.00

Bookmark
What is the full form of 'MAN' in networking?

6994IG°69 'MAN' @ gl el 2'61?
(A) O Main Area Network
6619 92N 6954I6 (Main Area Network)
(B) © Multimedia Area Network
AREAE2I 992l 69549ld (Multimedia Area Network)
(C) O Mini Area Network
716 992 699¢S (Mini Area Network)
(D) O Metropolitan Area Network (Correct Alternative) (Choosen Option)

6E16CIANSIE 9R2 6953l (Metropolitan Area Network) (Correct Alternative) (Choosen
Option)

Question No. 10 1.00

Bookmark
High level languages were introduced in which generation of computers?

AR 69Q 6REREALNER TR ERESM miIgPda (High level languages) €99 QUQuI9 6L9ml?
(A) O Fourth
2582
(B) O First
gelel
(C) © Third (Correct Alternative)
2G1%4 (Correct Alternative)
(D) O Second

§614
Question No. 11 1.00
Bookmark

In Microsoft Word, a collection of frequently used commands such as save, undo, print preview is located
on the .

(A) O Status bar

/'Y QIR (Status bar)
(B) © Context Menu

@68lgo 6619 (Context Menu)
(C) O Task bar

G4 QU9 (Task bar)
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(D) O Quick access toolbar (Correct Alternative)
G 21679 MR (Quick access toolbar) (Correct Alternative)

Question No. 12 1.00

Bookmark
Which chart type in Microsoft Excel is useful when you want to find optimum combinations between two
sets of data?

2 6U6LER6R YR Gl 648 1RIER ATIF| KTFRIR ARS! IR ORI FA6S, 6K68696R FIRNCRIAT
g6gm (Microsoft Excel)6%! 291 696 S16' Qu6alioh AIeYg g9?
(A) O Stock Chart
2@ OI6' (Stock chart)
(B) O Line chart
MRS SI¢' (Line chart)
(C) O Barchart
QIQ 916 (Bar chart)
(D) O Surface chart (Correct Alternative)
aaeerd 16 (Surface chart) (Correct Alternative)

Question No. 13 1.00

Bookmark
How many bits make one Nibble?

6@65I5 BF (bits)q 69 6915 @AM (Nibble) @492
(A) O 1024 bit
1024 %' (bit)
(B) O 4 bit (Correct Alternative)
4 8¢ (bit) (Correct Alternative)
(C)O Oor1bit
0 @9 1 ¢ (bit)
(D) O 8 bit
8 8¢ (bit)

Question No. 14 1.00
Bookmark
Which among the following components is referred to as Main memory in a computer?
FIRGe KEICREgEe IR G‘E?‘GYG'E_]‘. 69115\ RFYSRR €514 6T641RN (Main memory) QUSS AQUILIN?
(A) O HDD
HDD
(8) O CD
CD
(C)O USB
UsB

(D) O RAM (Correct Alternative)
RAM (Correct Alternative)

Question No. 15 1.00
Bookmark
What is the shortcut key to center align text in MS Word? _
MS @€ (MS Word)6%! 66'g6'g 694% IRIRQ (center align) @3S DI Q@QS @1 @'al?
(AYO Ctrl+P
Ctrl+ P
(B) O Ctrl+R
Ctrl+ R
(C)O Cirl+C
Ctrl+ C
(D) O Ctrl + E (Correct Alternative)
Ctrl + E (Correct Alternative)
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Question No. 16 1.00
Bookmark
Identify the domain name from http://www.ourcountry.infhome.aboutus.html
http://www.ourcountry.in/home.aboutus.htmlIQ 6216618 6Q¢1 (domain name)q 59 F9g?
(A) O ourcountry.in (Correct Alternative)
ourcountry.in (Correct Alternative)
(B) O http
http
(C) O aboutus.html
aboutus.html

(D) ©O home
home

Question No. 17 1.00
Bookmark
wizard helps the presentation to run on another computer.
6d6w6ada (presentation)q 29y @FERAER SIS IR 8aI% (wizard) QILIAY K2 |
(A) O SendTo
644 ¢ (Send To)
(B) O Pack and Go (Correct Alternative)
auie 2i€ 6611 (Pack and Go) (Correct Alternative)
(C) O Page Setup
69w 6492d (Page Setup)
(D) O Properties
gagg (Properties)

Question No. 18 1.00
Bookmark
The component on a printer that enables to write, spray or put ink on the paper is called
de9g 6melQl, 64 A9l QIR AUER R GRS (write, spray or put ink on the paper) I A8 Q@ZJQI
QURAEIG QLI |
(A) O Printer head (Correct Alternative)
g4 62 (Printer head) (Correct Alternative)
(B) O Printer Punch
g4 94 (Printer Punch)
(C) O Printer orientation
daa 65r96€4% (Printer orientation)
(D) O Printer resolution
JE9 DERQUAR (Printer resolution)

Question No. 19 1.00
Bookmark
is responsible for resolving friendly domain names to an ip address. )
65lIZN ip 2629 (ip address) § 6PEm 6GI6F1 60¢19@a (friendly domain names) §9 @3 6<ISIRSR! Cin
Q PRI egd 26s |
(A) O HTTP
HTTP
(B) O DNS (Correct Alternative)
DNS (Correct Alternative)
(C)O FTP
FTP
(D) 108
10S

Question No. 20 1.00
Bookmark
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is the center of your internet network that serves as the point of contact for all your connected
devices.

2T RYEHE 629¢IS AR 694 269, 41Tl 2T 9D A°YD 2 QUIVEYLR AR G
2 @Ell] (point of contact) WIER RIdY K6 |
(A) O Router (Correct Alternative) (Choosen Option)
ARND'0 (Router) (Correct Alternative) (Choosen Option)
(B) © Cable
c@gm (Cable)
(C) O Node
6%9'1% (Node)
(D) O Modem
6¢1169¢1 (Modem)

5) Current Affairs National and International

Question No. 1 1.00
Bookmark
Which among the following companies has recently launched India's first intranasal Covid-19 vaccine?
FIMEC AANGLR FrIQ 6890 JI°gER AUASR gale REIFFIM 6R1EL-19 G191 (intranasal Covid-19
vaccine) M8 aQ&?
(A) © Biocon
QIeLee (Biocon)
(B) © Cipla
a9 (Cipla)
(C) © Bharat Biotech (Correct Alternative)
WING [I6LI6T'R (Bharat Biotech) (Correct Alternative)
(D) © Serum Institute of India
699¢1 adYE &P @82l (Serum Institute of India)

Question No. 2 1.00

Bookmark
Which state has secured the first position under the "best performing state" category in the Pradhan
Mantri Awas Yojana-Urban Awards 20217

QUG 191 2SI 6QNRR-2ASIE 281G 2021 (Pradhan Mantri Awas Yojana-Urban Awards 2021)Q "d6SIR¢]
JeSIeRIoN AURY (best performing state)” €969 68 AURY FeIF QI 2P FAR?
(A) O Madhya Pradesh
f1IdeQ sl
(B) © Andhra Pradesh
g 969l
(C) O Uttar Pradesh (Correct Alternative)
LEINY645l (Correct Alternative)
(D) © Tamil Nadu
SIORAIg

Question No. 3 1.00

Bookmark
Which state has become the only state in India to achieve the 'Jal Jeevan Mission Target' in Q1 and Q2 of
the year 20227 .
o4 20220 Q1 3 Q2 69 NAGA 65A IRAIE AURY ‘AR VG H9E FI65le (Jal Jeevan Mission Target)'
LI GAR?
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(A) O Karnataka
adica
(B) O Odisha
Besl
(C) © Tamil Nadu (Correct Alternative)
SITMGIg (Correct Alternative)
(D) O Uttar Pradesh
LRYeQd

Question No. 4 1.00

Bookmark
In November 2022, which country hosted the 27th Conference of the Pames of the UNFCCC (COP 27)7?

CeWLD 202269 69Q 696 UNFCCC (COP 27) 91 27%% @areas, 2 g aiga (Conference of the Parties)
ACART KAAMI?
(A) © Russia
Qa2
(B) O Egypt (Correct Alternative)
@@ (Correct Alternative)
(C) O India
(ol
(D) © SrilLanka
glimet]

Question No. 5 1.00

Bookmark
Which among the following is the first North East Indian state to have a comprehensive policy for mental
health and social care?

A99R Iy 99° LIRS A QIR 6515 583 Q16 2RI URBI @aa-q@mmsa ISl delel QU
6% |
(A) © Meghalaya (Correct Alternative)
6fltlim&l (Correct Alternative)
(B) O Tripura
gdal
(C) O Assam
2ldie
(D) © Nagaland
Islimiel

Question No. 6 1.00

Bookmark
Which of the following became the first State in the country to bring out an Elephant Death Audit
Framework that promises thorough investigation and scientific documentation of every jumbo death?

FIMES FQ 6995 69410 QoIFl URY R TIB1T gy 2 626186 (Elephant Death Audit Framework)
AER Q1L g6RY G6¢l F)Y (jumbo death) Q! YEPIGYEP IQARIR 99° 6TRITR GQUECI6QART G EE F6Q1?
(A) O Tripura

gga
(B) © Tamil Nadu (Correct Alternative)

SIAMAIE (Correct Alternative)
(C) O Punjab

aale
(D) O Uttar Pradesh

Ll doLdl

Question No. 7 1.00
Bookmark

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Which among the following countries topped the Environment Performance Index 20227 ]
JERINATECIE AR, R6EF 2022 (Environment Performance Index 2022) 62 §9meS 696 694 shd
gie AR FR?
(A) O Finland
gamie
(B) O Norway
oY
(C) © Denmark (Correct Alternative)
ceaeale (Correct Alternative)
(D) O Spain
64

Question No. 8 1.00

Bookmark
Which of the following is an indigenously developed, pilotless, high-speed expendable aerial target
(HEAT) developed by DRDO?

QYImGe FRIQ 6000 654 RINERAIEIRES DRDO 915 89916 SIRe 19 (pilotless) CIR Y2 IFAETN
QIR 165l Q! high-speed expendable aerial target (HEAT) 26%'?
(A) O SANKALP
g°@m, (SANKALP)
(B) © SAGARMALA
AIGCIR (SAGARMALA)
(C) O AGNI
219 (AGNI)
(D) O ABHYAS (Correct Alternative)
dwild (ABHYAS) (Correct Alternative)

Question No. 9 1.00

Bookmark

Which of the following countries assumed the G20 presidency on December 1, 20227
QYmee 696gEa FRIQ 69QE B699Q 1, 2022 69 G20 O ARIAEE (G20 presidency) @3RI ?
(A) O India (Correct Alternative)

WIAE (Correct Alternative)
(B) O Japan

@idle
(C) O China

QI
(D) O Germany

aelg

Question No. 10 1.00

Bookmark

The Government of India has set a new target of 40 percent reduction in particulate matter concentration
in cities covered under the National Clean Air Programme (NCAP) by
qd adye @Ie1a 98 SIg KIS 91 National Clean Air Programme (NCAP) ARADER S
ALQGERER FERNYD aqlel (particulate matter) Q Ig'G1 (concentration) @ 40 954612 €19 /%S| IR QUG
ORI IR 987 AYY IR 08T |
(A) O 2030

2030
(B) O 2025

2025
(C)O 2027

2027
(D) O 2026 (Correct Alternative)

2026 (Correct Alternative)
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